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i e 2% psak vy B (LoHE EEH=E| #ERE s &
BLKEMZTL RUZFLUE 1 TEQEE) ®30 m 246.0 90m
PP30 HiVP L=4.00m 25 PN 1 4m

HiZ LA ®25 & 2

SKXEREEERV/ vk V50 X P30 & 1

SKXV4 vk (PPH) ®30 & 2

SKXARIAFF—X ¢ 30 x A20 & 1

SKXEZEBERF—X P30 x V25 & 1

SKX/NAT TR P30 & 1
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BRIRE & & B (LoBE I EEHE| B i &
BKEMZLT |RITFLUEMRET ®30 m 246.0
¢ 100(P) BWEEEEZ L ERSET ®30 m 1.0

RUIFLUERFT ¢ 50 O 1
RUZFLUERFT ®30 O 10
RUIFLUERFT @25 O 1
TSH#FT 25 O 4
EHRI—+ BRI —k m 247.0
HEKEER EKERERT HRKETRE B 0.124
HOHFRET |HUHHRET 25 = 1
BEiEFH MENORERCAAES ®25 m| 2
¢ 25 RUIFLUERFT @25 O 2
HFERET (EU1FH) & 250H=600 #A 1
BHEFE " 1
ERFHEL |ZERARET 13 = 1
HE/NORERLAHES $20 m 1
REFRET @ 250H=600 #A 1
BHEFE & 1




T I E X

£ 5 BROK | @ B # = BEHE
BKEMBT |HWERET H=600 | ErE® 060 m X 0.698 m 2470 m = 103.44 m3 100
MHERLIGARFYY)| H=600 | BFED 060 m X 0242 m 2470 m = 35.86 m3 40
EHERLI(FELELT) | H=600 | MED 060 m X 0290 m 2470 m = 42.98 m3 40
FRLIWET = 55.69 m3 60
TRERET t=10cm | RC-30 060 m X 2470 m = 14820 m?2 148
FERET t=8cm M-30 060 m X 2470 m = 14820 m2 148
RREEEIE 060 m X 2470 m = 14820 m?2 148
FLFIE A 060 m X 2470 m = 14820 m2 148
AEIBAsSHET t=4cm R 080 m X 2470 m = 197.60 m2 198
AsElZE R Y] T t=4cm 197m X 4 = 7880 m 788
AsTHE IR BE R T t=4cm 080 m X 1970 m = 157.60 m2 158
CofiiE R Ui T t=10cm 50m X 4 = 200.00 m 200
CoffihRBEfE T t=10cm 080 m X 50.0 m = 40.00 m2 40
ColfiEshE- T 40.0x 0.1 = 400 m3 4
AsTRE R ER -0 T 198 X 0.04 = 8.00 m3 8




